one foot
6!!

three inches

one foot

one and one half inches
6!!

one foot

one inch
6!!

one foot

ell

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarterinch

16

one foot

one eighth inch

1. 20 GA. GALV. SHT MTL. COVER, LAP, 6. ROOFING UP UNDER CAP. ROOF OVER ENTIRE
FOLD, & SOLDER ALL HORIZ. JOINTS. TOP OF PLATFORM.
21‘ gﬁ&k;{gﬁg vu—:PNLTUEhéB' CONTR. @\ 2. 1/2” DIA. ALL THREAD ROD W/ DOUBLE 7. CRICKET AS NEEDED.
" EBe0 1860 OR EQUAL NUT & WASHER EACH END, @ 24" 0.C. 8. I-BEAM SUPPORT RAIL ALL AROUND. SEE ROUND OR L AN SUPPLY L o N
f QUAL (MIN. 2 EA. SIDE WITHIN 9" OF EA. END STRUCT. DWGS. FOR ROOF FRMG. REQ'D. HOUSING WELDED FLAT OVAL ) ) . < =
3. BALL VALVE (TYP.). OF RAL.) 9. ROOF, SEE ARCHITECTURAL DWGS TO DUCT SECTION DUCT SECTION -
4. COMBINATION REDUCING VALVE W/ ' ! ' , J
STRAINER & RELIEF VALVE 3. 4x FIRE RETARDANT TREATED D.F. SUPPORT 10. 2x6 FIRE RETARDANT TREATED CROSS BRACING
PIPE T0 6” ABV GRADE ' ALL AROUND. SHAPED FOR ROOF SLOPE. W/ U26 HANGER BRACKET AT 12" 0.C. %\
5 GLOBE VALVE ' 4. CANT-STRIP ON ALL SIDES. 11. COUNTERSINK BOLT HEAD AND WASHER. Z 4y
6A UNION (TYP)A 5. LEVEL 1-1/8" CDX PLYWOOD PLATFORM. 12. 10d AT 4" 0.C. AT EDGES AND 12" AT FIELD. R N ROUND SHEET METAL
. o). - / % AN
7. LOCK SHIELD GATE VALVE. X VERIFY UNIT DIMENSIONS AND COORDINATE PLATFORM SIZE WITH AN & DUCT. Wi
8. P.0.C. BY HVAC CONTRACTOR. T 12 GENERAL CONTRACTOR TO BE BUILT ACCORDINGLY. SHEET METAL /
9. lg/éEE,—Pl;JPS mvEAETTESR— 1. 3/8’% THREADED ROD, — — COVER SHALL BE BUILT SO RAIN WATER RUNS OFF PLATFORM. ! / y
: 1 EACH CORNER. | J | , ,
o BR[| 2 Ty e 4w L temws o s o o
: : 3. P=1000 UNI-STRUT C—CHANNEL, - L I .
34 ARMSTRONG #AX—15V, 5 GAL, o OF 2 @)\ﬁ LEVEL / SQEEEL%); ASNE[,);LED 3 J SII\IGII_II_Z) o e e 1 ébbx Cvmg ELBOWS SHALL BE CONSTRUCTED AND INSTALLED AS DETAILED BY
ACCEPTANCE (75#). 4. L3x3'x1/4” ANGLE CLIPS EACH END ——(9) i T e '
OPEN SYSTEM: 55 GAL. DRUM WITH 3/8" BOLTS TO STRUT., TYP. - SA DUCT L @ 2. WHEN W1 DOES NOT EQUAL W2, VANE SHALL BE SINGLE THICKNESS VANE TYPE
T0 RR (19 CHEM. TANK W/MTG. BASE AND 5. STRUCTURAL 'I' BEAM, SEE STRUCT. | op pucT _ 10" MNN. AN J SLAN VIEW '
IN-LINE AUTO FEED PUMP (5004). DRAWINGS, TYP. OR MIXED = <> y %<—® 3. ALL SINGLE THICKNESS VANES SHALL HAVE A 2” [50mm] RADIUS, 1 1/2”
11, EQUIPMENT PLATFORM, SEE DET. 6. CEILING SUSPENDED DUCTED FAN [40mm] MAXIMUM SPACE BETWEEN VANES AND A 3/4” [20mm] TRAILING EDGE.
14/MHS01. COLL UNIT OR BS BOX. SEE MEcH, ' HENUM 2 »ia
lL?‘ 12.1/2" DIA. X 3" LAG BOLTS SCHEDULE FOR MAKE & MODEL. 4. WHEN W EQUALS W2 AND W1 IS GREATER THAN 20" [500mm] VANES SHALL BE
TYP OF 3). ' 6 - DOUBLE VANE TYPE.
| | s 0 ST R e - D2X/3 DG, BRACE, TYP. OF 4 10 ACCESS SECTION FOR ROUND/OVAL DUCT 5 ) SUPPLY DUCT TAKEOFF - AR TERMINAL UNIT
CLOSE TO PUMP SUCTION. 9. DOUBLE NUT, TYP. NOTE: AN \NREREE 7L NTS NTS
CW MAKE UP AND TANK PIPlNG/ MTG SEE PLANS FOR DAMPER LOCATIONS. e @ DUCTWOHK SOUAHE VANE ELBOWS
' NTS
@ 1 )_FAN COIL UNIT/ BS BOX MOUNTING
NTS ~ '7 FLOW
SEE STRUCTURAL DWGS. SHEET METAL AS < D — MAIN SUPPLY —-— = =
:/® FOR REQUIRED FRAMING. N— ] SPECIFIED FOR R SHALL 1 R SHALL O R SHALL
ny g ; 17 [25mm] FLANGE & HEM : EQUAL EQUAL —| | EQUAL
1..1/2"X 17 BOLT W/NUT & LOCK WASHER, 6. 1/4" NEOPRENE PAD (4) REQUIRED. POSITION » » N 7 & < P N
1" EACH CORNER, ) 7. INSULATED REFRIGERANT PIPES THRU CURB. 14 ROOF EQUIPMENT PLATFORM OF BOLT BOLT ON 4” [100mm] CENTERS hodkar omm] N CREATER T ] CReater L] SRemrer
_ 2.1-1/2" x 1-1/2" x 3/16" ANGLE 8. PROVIDE GRADULATED STEP BOOT WITH STAINLESS NTS i 1”x1/8" [25x3mm] BAND IRON L " S THAN W, [wme [ o, T 1 THAN ANE” S ThaN
«—@ CLIP (4) REQUIRED. 1 EACH CORNER, LOCATE TO STEEL CLAMPS BY THE PATE COMPANY. BOOT I FLEXIBLE MATERIAL | T\SM.ACNA FICURE 4-6 N r /3w 1/6W |, 1/6W
L TN ) TO AVOID ACCESS PANEL. JOINT AT CURB, SHALL BE MADE WATER TIGHT. ey AS SPECIFIED puCT | o= 45 LEED IN ' # '
] | | F—O F—mm=—— 3/4" 10 pukP sucrion 3.1/2” x 3" LAG BOLT INTO PLATFORM SUPPORT 9. INSULATED , ALUNIMUM WRAP REFRIGERANT i W 3] Sy DUCT TO AR TERMINAL STANDARD RADIUS OR A\ \
o D) 1. QUICK—FILL CAP MEMBER, 1 EACH CORNER. PIPES, THRU CURB. N 4 !H [ ’ LONG RADIUS ELBOW W W
' b, 4. ROOF EQUIPMENT PLATFORM, SEE DETAIL 14/MH501. X ] =) | |
2. 5 GALLON BY-PASS FEEDER. » | I
- 3 KIN-LINE #412 CLAWP. 5. 1/4” NEOPRENE PAD AT EACH CLIP. /Ugu ) ~ , | |
4. CONSTRUCTION CHANNEL W/ CLAMP WASHER / | | SHORT RADIUS ELBOW SHORT RADIUS ELBOW
¢ SECURE TO CHANNEL W/ 1/2” DIA. BOLTS. : ' SHEET METAL AS 1.1/2” [40mm] MIN. TO 3” [75mm] | | NOTE: WITH ONE VANE WITH TWO VANES
5. 3/4” HOSE BIBB. —— 1. UNION. FLOW DESIGN MODEL UP D oy SPECIFIED FOR MAX. INSTALLED. 6” [150mm] s o
/ C 6. 3-1/4" x 3-1/4” x 1/4" ANGLE. CONDENSING UNIT RETURN ) AC\)URTOE:?_BCVLVALVE WITH P/T PORTS ON FaN sipE  DUCTWORK: NOMINAL WITH MATERIAL TAUT ~-"~- BLAN VIEW 1. THE INTERIOR SURFACE OF ALL RADIUS ELBOWS SHALL BE MADE ROUND.
7. 6"x6"x3/8” STL. PLATE WELD TO ANGLE. " UNION & MEMORY STOP.  FLOW DESIGN
RECTANGULAR FLEXIBLE_CONNECTION 2. ALL STANDARD RADIUS ELBOWS CAN BE SUBSTITUTED WITH SHORT RADIUS
o [T D) MODEL AC OR EQUAL ELBOWS. ALL SHORT RADIUS ELBOWS SHALL HAVE VANES. VANES SHALL BE
e 3. COMBINATION BALL VALVE, Y-STRAINER ALTEHNATE SUPPLY DUCT TAKEOFF - CONSTRUCTED, SUPPORTED AND FASTENED AS RECOMMENDED BY SMACNA.
| FHOF——=—= 3" rrou puue oiscrusce SOAPIER, D HOSE PAD DRAN WnVE DUCTWORK RADIUS ELBOWS
8. 3/8"x3” LAG BOLT INTO EQUIPMENT PLATFORM, @\ A o mgHEEAEC% RCI-I!:/?I;[IJALFLOW DESIGN 5/16” [8mm] FLANGE 6 AIH TEHM'NAL UNITS 2
SET N SLICONE, TYP. OF 4. SEE DET 14/MH501 A S 7z | BOLT ON 4” [100mm] CENTERS TS NTS
. . C ' 17x1/8” [25x3mm] BAND IRON
i I NOTES: T 17x1/8” [25x3mm] DRAW BAND SHEET METAL SCREWS ON
\® 1. SEE GENERAL COIL SPECIFICATIONS 7 12” [300mm] CENTERS
FOR ACCEPTABLE MATERIALS AND
CLOSED SYSTEM BYPASS FEEDER Y VANUFACTURER. 2. ALL FACTORY MODULES MUST BE LEAK Mo AS [100mm] puCT FLow™
23 TESTED AT 100 PSI AR UNDER WATER. o MZ_\ CENTERS f N o A
NTS : . D , X &
' Vi Vo ” ' 1/4W OR 4" = —_ =
19 CONDENSING UNIT MOUNTING J\ RV 2 ) /27, . [100mm] MIN. N
[ mm mm 40mm
NTS \ o . / V‘D\ PROVIDE VOLUME DAMPER
1. TYP. CONDENSING UNIT (375#). 6. 4"X)§” TOP PLATE, CONTINUOUS ALL FLANGED CONNECTION MAX. INSTALLED. 6” [150mm] S
2. TYP. PRE—DRILLED BOLT SPACING AROUND TOP, WELD TO ANGLE IRON ON FAN SIDE NOMINAL WITH MATERIAL TAUT AL N
DIMENSION THRU UNIT BASE RAIL. LEGS ALL AROUND. oETE'S BLUG (1YP) W PCAL DUCTWORK TRANSITION
3. 3’X1/4°X AS REQ'D LENGTH SWAY 7. 3"X3"X1/4"X4'—0" HT. ANGLE IRON : /\'—*
BRACE, ATTACHED TO ANGLE FRAME WITH SUPPORT LEGS, TYP. OF 4. THERMOMETER w/ 3-WAY BY-PASS VALVE 15 CONDENSER WATER COIL PIPING ROUND FLEXIBLE CONNECTION PLAN_ VIEW PLAN OR SIDE VIEW
%” THRU BOLT WITH LOCK WASHER & 8. J4"X4” HILTI KWIK BOLT TZ INTO CONC. SEPARABLE WELL FULL SIZE NTS
NUT, TYP. ON (3) SIDES. FLOOR, TYP. ONE EACH CORNER. (TYP) OVERFLOW
4. %" THRU BOLT WITH LOCK WASHER & 9. 6'X6"X3/8" STEEL PLATE, WELD TO ‘ (TYP.) UNIT BASE RAIL.
NUT, TYP. ONE EACH CORNER. ANGLE IRON LEGS ALL AROUND. :
5. 4°Xi6 GA. METAL STUD, TYP. OF 5. 10. CONC._ FLOOR WIH 4" Hon / . FLEXIBLE DUCT CONNECTIONS 7 EXHAUST OR RETURN BRANCH DUCTWORK
. |
STRUCT. DWGS. A A Ak A A A NTS NTS NOTE:
NOTE:  CONDENSING UNIT (OU—1.1) IS _ CC\;SR - COOLING TOWER O NEED HANGER STRAPS OR RODS UNLESS OTHERWISE INDICATED ON PLANS, MAXIMUM ANGLES SHOWN SHALL APPLY.
NO RACK REQUIRED. \ AH_l ,_Y m 3200 BAND OF SAME MAX. DUCT @| QUANTITY/SIZE MAX. LOAD | SPAGING INSULATION SEE §
CWS ¢ ; il SoL AS HANGER IN. [mm IN. [mm LBS. [kq] IN. [mm SPECIFICATION 1R66th1gg|l§q]PlN
N . STRAP 26 [650] ONE 1 [25] x 22 GA STRAP | 260 [119] | 144 [3600] ig'FEEgUIBRLQgE
'CF)LPEISA]I:EEL%JL . 36 [900] ONE 1 [25] x 18 GA STRAP | 420 [190] 144 [3600] SEE SPECIFICATIONS FOR CLAMPS 7 DUCT OUTSIDE END BEARING
MAKE —UP A3 ~ER [1250mm]e 50 [1250] | ONE 1 [25] x 16 GA STRAP | 700 [317] | 144 [3600] AND SEALANT (TYP.) THERMAL INSULATION ATt INSULATION o
WATER TOWER DRAIN w & UNDER 60 [1500] | TWO 3/8 [10]¢. RODS 1320 [598] | 144 [3600] SUPPORT SADDLE SEE SPECIFICATIONS STAND—OFF \ DUCTWOHK THANSIT'ONS
MAKE—UP WATER SOV_(TYP.) 84 [2100] | TWO 1/2 [13]# RODS 2500 [1133] | 144 [3600] FROM STRUCTURE
~— CONICAL OUTLET ~—— | OAMPER BLADE _ 3
W/ AUTO. CHW HANGER RODS FLEXIBLE DUCT SIZE |- e/ NTS
FEED SYSTEM. 8" HIGH I BEAM SUPPORT SAME A3 DIFFLSER BRANCH DUCT < — ESQEREG WITH =Sy o
1" MIN. DEFLECTION | WAME WELDED AL AROUND m NOTE: LENGTH. _l S QUADRANT '
?%@%JS&EATQ&TW%'O = = ALLOWS FOR DUCT RENFORCING AND USE RICID ELBOWS 5 INSIDE ERD BEARING
1/2" THRU BOLT, TYP. EQUIPMENT PLATFORM, FOR CHANGE OF »
PLATFORM SUPPORT (1/) EACH CORNER THRU SEE DETAIL 14/MH501 INSULATION, BUT NO EXTERNAL LOAD. DIRECTION GREATER E{EARE&%E”]/ TURNING VANES VOLUME EXTRACTOR; ADJUSTABLE  — ADJUSTABLE
gggﬁgg Y. (1) EACH BASE RAIL INTO " BEAM. BAND SIDE_ELEVATION ALL AROUND SECTION SEE FLOOR PLAN FOR CFM NOTED ON FLOOR PLANS OR LINKAGE
/@ ~ OVER 50° L SPLIT DIMENSION B ]
> 1. SET COND. SUPPLY TEMP. FOR LOWEST TEMP. POSSIBLE WHILE MAINTAINING [1250mm]s 127
» 3 ; SHEET METAL “—VOLUME DAMPER W/ MAIN AR AR AR
CU "ON LINE" STATUS WITHIN MFG.'S RECOMMENDED OPERATING PARAMETERS. — SADDLE  LOCKING QUAD CoTe. SUPPLY | N AR = & PR - AR >
2. PROVIDE TEMP. SENSOR, TEMP. TRANSMITTER, CONTROLLER, BYPASS VALVE, [300mm] I DUCT — 1 AIR ]
INTERLOCKING SWITCHES, CONTROL WIRING AND CONDUIT AND POC TO EMS - = = = = = 1. DELETE INSULATION STAND—OFF ON DUCTWORK WITHOUT EXTERIOR INSULATION. FLOW i/ MAIN
CONTROLS AS REQD FOR CORRECT OPERATION OF BYPASS AND AUTOMATIC TYPICAL / , SUPPLY
- & .
< COOLING TOWER PIPING ROUND DUCT HANGERS LAYIN CLG. DAMPER O reaiste
20 16 TS SUPPLY REGISTER TAKE—OFF
NTS PLAN VIEW
FLEXIBLE AR DUCT CONNECTOR VOLUME DAMPER DETALL ;
12 8 SUPPLY REGISTER /
NTS NTS OR BRANCH DUCT = _AR -
HANGER ROD AIR_SPLIT_DUCT TAKE—OFF FLOW
<L 1. IN-LINE CENTRIFUGAL PUMP (2754). 8. TYP. KINETICS IN-LINE PUMP SUPPORT. PLAN VIEW A
2. BALL VALVE BOLT TO PUMP FLANGE AND SLEEPER /JAIN SUPPLY
3. REDU’CER (TYPICAL) WITH BOLT QTY & SIZE AS RECOMMENDED INSULATION (VAPOR N N ) S \DUCT
4. PETE'S PLUG (TYPICAL) BY KINETICS. ~ EARTENRE G o N — [ —CABLE/ CHAN RETAINER E {gorvnvm%RMﬁN 5| L provioe voLume
5. STRAINER WITH BLOW-DOWN 9. 18" LONG X 8" HIGH "I' BEAM MOUNTED TO TEMPERATURE PIPE) | A ' DAMPER
VALVE & HOSE THREAD PLATFORM WITH (2) 3/87 X 2" LAG BOLTS \ a . ] ~ /\/ —A—L
6. PRESSURE GAGE SET IN SILICONE, TYP. ONE EACH END. S A"
7. NON-SLAM CHECK VALVE PROVIDE _HicH Ees = < ’ < T~ W
. ERV UNIT. : @é COMPRESSIVE STRENGTH Lo L INSULATION BRANCH DUCT TAKE—OFF PLAN VIEW
2. UNIT BASE RAIL, SEE @\@ { :ZI)\IESNUSI#P)OI\LIJ (s PSF N . :
MANUFACTURER’S CUT SHEET. C 1 C —| / =— DUCT
. MANUFACTURER'S HOLD DOWN S—CLIP i ? Jun , INSULATION. SHIELD (v \@ (8) (.
16 GA. GALVANIZED STEEL. I |\N -
TYPICAL OF 4 (ONE PER CORNER). | INSULATION SHIELD Qe \ =~ (:) S [ easker 4 SUPPLY DUC OHK TAKE OFFS
. GALVANIZED S/M FLASHING. _ AT HANGER ! 2 2
. ROOFING FELTS. L | | 5<_@ N INSULATION
. CANT STRIP. Q| i 1 ADJUSTABLE CLEVIS HANGER ADJUSTABLE CLEVIS HANGER =
. 2" x 1/4” CONTINUOUS DENSE - ) TYPE 1_— SEE SPECIFICATIONS TYPE 43 — SEE SPECIFICATIONS i
NEOPRENE SPONGE GASKET. (:)ﬁ <—. YP o
. METAL ROOF CURB. - @_/ PROVIDE INSULATION SHIELD 1/2" [15mm] DIA. L 4y A/ SECTION _A-A_
(FURNISHED w/ A/C UNIT) AW = & INSERT FOR ALL PIPING */HANGER RODS WITH — —
. 1=1/2" RIGID INSULATION m m (8” [200mm] MIN.) 36" [900mm] MAX. TYP. DIAG
COMPATIBLE WITH ROOFING. = = SPACING ON ‘EACH 1. SUSPENDED INDOOR UNIT SEE MECHANICAL DWGS. SEISMIC BRACE ACCESS PANEL
. MINIMUM R—19 BATT INSULATION WITH FQUIPMENT PLATFORM FILTER ACCESS IS THRU REMOVABLE RETURN GRILLE. CASING
1/2" PLYWOOD COVER. PROVIDE 2x SEE DETAIL 14/MH501 BAND 2. 3/8"¢ ALL THREAD, TYP. OF 4. /\/ /\/ GASKET
FRAMING AS NECESSARY TO MOUNT : 1=5/8" [43mm] 12 GAUGE 3. 12GA. UNI=STRUT (P1000), TYP. OF 2. UNIT HANDLE INSIDE
w11 M CRBoF DECK A > CHANNEL. OF 2%0"1,/4" 4. L3 x 3 x 1/4 DIAGONAL BRACE, TYPICAL OF 4.
: : : 5. 3/8"¢ BOLT WITH WASHER AND NUT, TYP.
: 50x50x6.4 ANGLE ) ; n _
12. RODF, SEE ARCH DWCS. HANGER REQUIREMENTS % 150506 4mm] 6. L3X3X1/4 WITH 3/8’0 BOLTS EACH END, TYP. < [ 12 <=t 5
= 7. CEILING, SEE ARCH DRAWINGS. o PLAN_VIEW 5 > o 2
" — 8. PROVIDE OQUTSIDE AIR ACCESSORY KIT WITH (2) 6"¢ DUCT CONNECTIONS
1. Méfﬁgg &V'JSEWSS';EB S‘N NUT o1 IN-LINE PUMP SIDE VIEW TRAPEZE HANGER FOR UP TO FOR UNITS WITH MORE THAN 30 CFM_OUTSIDE AR. & & . oA <
@ CENTER, TS 1000 LB, [453KG] UNIFORM LOAD 9. OUTSIDE AIR DUCT CONNECTION TO 4°¢ KNOCOUT FOR 30 CFM AND UNDER. L
14. #10 X 1/2 TEK SCREWS 4 PER CLIP| 10. 1" MIN. DEFLECTION SPRING ISOLATOR. /\/ /\/ INSULATION
L [ MAXIMUM PIPE/TUBING SUPPORT SPACING FWITA%XI_IELRE
* (BY GENERAL CONTRACTOR IN. | THRU 3/4 Vo1 141 1/20 2 |21/3 3 4 5 6 8 by
i ( ) NOM. SIZE[ ]| RU [2/0] [25] | [32] | [40] | [50] | [65]] [75] | [100] | [125] | [150] | [200] ACCESS DOQOR ~ SECION B8-8 S,
FT. 7 7 | 7 ] 9 | 10 ] 11] 12| 4] 16 ] 17 | 19 NOTES:
PIPE LATCH
[mm]| [2100] |[2100]|[2100]|[2700]|[3000]| [3400][3700]|[4100]|[4900]|[5200]|[5800] 1. LATCHES SHALL BE OF THE WEDGE TYPE TO CLOSE DOORS
SEE STRUCTURAL DWGS. TUBING . FT- 5T 6 | 7| 8] 8 | 9] 10] 12 ] 13 [ 14 | 18 13 FAN COIL CEILING MOUNTING TIGHTLY.
FOR REQUIRED FRAMING. [mm]| [1500] |[1800]|[2100]|[2400]|[2400]| [2700][3000]|[3700]|[4000] |[4100]|[4900] NTS 2. Engs ON THE ACCESS DOORS SHALL HAVE NON-—CORROSIVE
NOTE: FOR TRAPEZE HANGER TAKE SPACING OF SMALLEST SIZE ON TRAPEZE. 3. SEE SMACNA 2005, FIGURE 9—15
PPE HANGERS (‘g ) ACCESS PANEL AND DOOR DETAL
17 NTS
o5 ERV MOUNTING DETAIL NTS 18 MECHANICAL DETAILS
% NTS SCALE: NTS
CONSULTANTS: ARCHITECT/ENGINEERS: MECH Monts - 70917 Office of
MECHANICAL DETAILS Mental Health Psychosocial 570-217 ICe O
Rehab Recovery and Health Care |[gyiding Number Construction
LP Consulting Architects for Homeless Veteran Center 37 and Facilities
= Engineers, Inc. 1827 E. Fir Avenue / Studio 103/ Fresno, CA 93720 Approved: Project Director Location Drawing Number Manaagement:
T 559 322 2444/ www.hmcarchitects.com g .
HMC PROJECT #1393002-000 2615 E. CLINTON AVE, FRESNO, CA 93703
895 W. Ashian Ave, Suite 101 Clovis, CA 83612 D
ate Checked Drawn M H 50 1
p559-348-1:1m - £559-348-2131 % Department of
Job # 11-1008.1 8/ 11/ 2014 KK, GL DN Dwg. of Veterans Affairs

¥:\2011\11-1096.1 VA Mental Health\111098 MHS01.dwg, 8/7/2014 1:47:21 PM, DWG To PDF.pc3, Dong Ngo (-




